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(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
(@)(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 4+ 4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365
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(100 Q48] TA 27])= 4.87 + 4.87 = 9.74( g)
(50942 54 370)=3.9+3.9+3.9 =11.7(g)
11.7-9.74 = 1.96(g)
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@ 0.38+0.84 © 1.84-0.17
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@ ©.6.00 ® ©6.0.0
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@ 0.38 4 0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47+0.5=0.97

© 1.9-0.62 =1.28

wabA] 0.97 < 1.22 < 1.28 < 1.67 4 Th
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mehA], ZF 1t a2 (180°-50°) 2 =65°

W, 478 el Mol SHaTtgelna
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ZtHEBa290°-65°=25°
Zteun2180°—(25°+45°) = 110°

waba] ZF 2B 180°-110°=70°
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2.875 = 2+ 0.8 4 0.07 4 0.005

3.0683 = 3 + 0.06 + | |+ |
@ 0.8,0.03 @ 0.8,0.0003 ® 0.08,0.0003
@ 0.008,0.003 @0.008, 0.0003

&4 A A 2270 o] B2 YEHA| efot: Hur.
3.0683 = 3+ 0.06 + 0.008 + 0.0003
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@ 7.145, 7.175 @ 7.15, 7.19 @7.155, 7.185

@ 7.16, 7.185 ® 7.16, 7.19
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